بسم الله الرحمن الرحيم
مدرسة ذكور البقعة الابتدائية الثانية             ورقة عمل  ( الطرح )         الصف الثاني (   )

اسم الطالب :............................................... 
السؤال الأول: جد ناتج الجمع في كل مما يلي :
   5  6  9                9  8  6             0  2  5                4  4  6

- 4  0  4             - 6  2  1          - 2  3                 - 5   6  2       

ــــــــــــــ                      ــــــــــــــ                  ــــــــــــــ                      ــــــــــــــ
ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ
954 -              = 241
  

         - 521 = 121
951 -              = 486
  

         - 524 = 312
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